a=-1,b=2% 9, -3a+6b-3(b+2a) & Atstolzk.

—3a + 6b — 3(b + 2a)
= -3a+ 6b—-3b—-6a=-9a+ 3b
AL 5 —9x (-1)+3x2=9+6=15




2.

A=3a-2b,B=2a-5b L, -34-BEaStbo &
Hepfol et
> =

> HE: —1la+11b

—3A - B = -3(3a —2b) — (2a — 5b)
= —9a + 6b — 2a + 5b
= —1la+11b




3. (2rty):(r-2)=3:1 0], Qii—f;‘ysq e Fotolat,

Ch
H -

>
[> Xek: g

oH .

2x+y = 3(x—2y), x = Ty°| B2 Fo|XI Aof tf¢istH
2x+4y _ 2(7y) +4y _ 18y
xX=y Ty—y Gy

=3
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@a=F - ©a=T

1 1
§ha+ Ebh =S

1
—ha=S — —bh
a=S 3




5:x=6:(2x—y)

6x =5(2x—y)
6x = 10x — by
4x = 5y

5

LX = Zy




